Heckrotorservobefestigung fur Vario Einbaumechanik

Ord.N0.1002/32
01/04

Ord.No. 97/9

2x 90545
3,2Xx9mm

\(/( (
Ny
mm
2 4x 90285

055
M3x8
2% 71/3 M2,5x10
90545
3,2X9mm
7 90055
G M3x8
d @
2, 90105
d % M3x25
= 90080
| @ M3x14 O

Ord.No.92/5

mit "Ord.No." versehene Teile sind NICHT im
Bausatz enthalten!

! Parts whose Ord.No. is stated in full, e.g.
(Ord.No. 47/11) are not included in the kit.

(S) Ord.No. 10/24




